ME xR No.1

IRAR A & A& H | ZVHE|EEHE &5 &
TRiR—1 HPPE(EFZO{f A ZEE) L=5.00m ®50 x 37 185.0m#f1 5% (5%0m)
BokKEHMZ T |HPPE(EE) L=5.00m ® 50 X 6 27.0m# E%(5%3.0m)
HiVP  L=4.00m 50 y:N 1 1.1m#ER
" 30 ¥ 1 1.5m#E%
EFRUK (M52) ¢ 50 % 45° & 1
" $50%x11° 1/4 | & 2
AHEHEGRVER) ¢ 50 X 45° & 4
AHEHEGEEER) @50 x 45° & 1
EEEHRAANEHE (PXV) ¢ 50 x 45° 1@ 1
vsTaq ok @50 1@ 1
BEEAANETEE ®50(P) x p40(V)| & 1
SKXF—X (A7) ®50(P) x ¢30(V)| & 1 RF&LLE
RIS KE GREER) ¢$ 100 % ¢ 50 & 1
SKXSIEARRRVAUh A2a7 1 (RYER) 50 & 1 RF&LLE
HiT/)LA ¢ 30 & 2
KXV T ®50 & 1
BRI —bk W=150S m 2146 185.0+27.0+1.1+1.5
HUHRHRET |FRELTFH ®50 S
¢ 50 Bhlftvyryks 1oa7RIYER) ¢ 50 & 4
o= H=600 E3i| 2




MK

No.2
IRAR A & A& H | ZVHE|EEHE &5 &
KB T HRILE R KEE GRUER) $50% 25 1 1
" ®50% ¢ 20 1@ 20
ISRIIAUk ¢ 25 & 1
" ®20 & 18
ISRTVaAUPPER) 20 & 2
RUIFLUNAT(158) 2BE ¢ 20 m 2.0 2.0m#E%(1.0m x 244)
SKXT LR (PPER) ¢ 20 & 4
Hiv 4k ®25 & 1
" 20 & 18
" $20x 13 1@ 6
HiT/L7R 25 & 2
" ®20 & 36
HiVP  L=4.00m 25 PN 1 1.0m#ER(1.0m x 14£)
" 20 V.3 5 18.0m7E%(1.0m X 1844)
BRI —bk W=150S m 105 0.5 % 2144




MK

IRAR A & A& H | ZVHE|EEHE &5 &
TriR-2 HiVP  L=4.00m 40 x 41 163.6m7a %
BLKEMERT " 25 X 1 1.0m#AE%
AHEEE REER) ¢ 40 x 45° & 4
SKXF—X ({5EE M) $40x ¢ 30 & 1 RF&LLE
HRILERKE GREER) d40x% P25 & 1
SKXZ kK RY vk BEER) 25 & 1 RF&LLE
HiV4 vk ¢ 40 & 36
HiT/)LA ® 25 & 2
HINUKR b40x11° 1/4 | @& 1
BRI —bk W=150S m 164.6 163.6+1.0
HUHRHRBET |FRELTFH 40 = 3
40 HFhlCHVryr(BEER) 40 1@ 6
o= H=600 #H 3
fakggT RIS KE GREER) $40x ¢25 & 1
" ®40x ¢ 20 1@ 1
ISRIIAUk ¢ 25 & 1
" ®20 & 11
HivV4 vk ®25 & 1
" 20 & 11
HiT/)LA ¢ 30 & 2
" @25 & 2
" 20 & 26 KB THELSBEED
HiVP  L=4.00m 30 PN 1 1.0m#E&(1.0m x 1)
" 25 y:N 1 1.0m#E&(1.0m x 1)
" 20 y:N 5 17.0m7E%(2.5m X 44, 1.0m x 744)
BRI —bk W=150S m 125 0.5 % 944, 2.0m x 444




MHR

No.1
BRIRA E2E pizE B | Z9M¥E | ZEEHE & =
TRiR-3 HPPE(EFZO{tHZEE) L=5.00m @50 x 20 100.0m#f 5% (5%0m)
Fe/KEHHZRT |HPPE(EE) L=5.00m ®50 FN 4 17.2m# E%(5%2.8m)
HiVP  L=4.00m ® 40 PN 3 11.3m#s%

AhEE GRYER) @50 x 45° 1 2
AHEE BEER) @50 x 45° 1 1
" ¢ 40 x 45° & 2
ERERAHNEHEPXV) ® 50 x 45° 1 1
PVZaA b ®50 & 1
VEDZEE S ®50 & 1
" ® 40 & 1
ERERANBTEE $50(P) x ¢p40(V) | & 2
MC1=#> 50 & 1

BR—k W=150S m 129.7 100.0+17.2+1.2+11.3
TUHRHRET |FRELTFHF ¢ 50 = 3
®50 BhlLvryk 1oa7ERUER) ®50 & 6
toH=E H=600 #H 3
TO#HFET |FHRETETF ® 40 H 1
® 40 Bhlvryk 1oa7ERUER) ® 40 & 2
toH=E H=600 #H 1
E[RAFRETL |[/MEZEIF @OV ®20 & 1
ZERARYIX ®350 H=600 | 1& 1
YRV KEGRYER) $50% ¢20 & 1
GPFvk ®20 & 1
GPY4 bk ®20 & 1
BEViryk $25% 20 & 1




MHR

No.2
BRIRA E2E pizE B | Z9M¥E | ZEEHE & =

koL YRILEFAKE GRUER) 50 % 20 1l 12

ISRTIAUk ® 20 1l 10

ISRTIALUR(PPEMA) ¢ 20 1l 2

RUZFLUNAT(158) 2BE ®20 m 20 2.0m#AER(1.0m x 244)

SKXT /LR (PPER) ®20 1@ 4

Hiv 4y ¢ 20 1l 10

" $20%x P13 1@ 1

HiT/LAR ®20 & 20

HiVP  L=4.00m ®20 V. 3 10.0m7#E%(1.0m % 1044)

BR—k W=150S m 6.0 0.5x 1244




HHE

BRIRB £ ¥R Hig B | H9HE | £8H=E % &
IRER-1
BEKEHREL |RUTFLUOERET ®50 m 212.0 185.0+27.0
E-—LER/ET ®50 m 1.1
" ®30 m 15
RYIFLUERFT (REES) $50 10#F | O 37
" ¢50 20%F | EHFT 3
RUIFLUELMRT ¢ 50 o 10
ANZHIBET RYER) ®50 O 11
ANZHILMET (EEER) ®50 O 5
RUIFLUEMFET ¢ 50 O 3
" ®30 O 1
YRS KEFREIGEEER) $100x ¢50 | EFT 1
HENOBRERQLAHES ®50 O 2 NKRFrVTED
TSH#FT ®30 O 4
EHRI— m 214.6
WAKEERT HKEFRE =] 0.11 214.6m/2,0008=0.118
TURFEL |EUHFRET ®50 X 2
$50 HENOBRERQLAHES ®50 O 4
RUIFLUE#RFET ¢ 50 O 4
FERET H=600 #8 2
BEZE ® 2
HWAKEIBEL |YRLAKREREIGRUER) $50% ¢ 25 {& 1
" $50% ¢20 & 20
MENOEERLAAES 25 O 1
" ®20 O 20
E-—LER/ET @25 m 1.0
" ®20 m 18.0
RYIFLUEHRHRT ®20 m 20
TSH#FT @25 O 6
" ®20 O 114
" ®13 O 6
RUIFLUEHFT ®20 O 10
RS —k W=150S m 105




FHE

BRIR A & g HA| H98E | EEHE B &
FrfR-2

BEKEMRI |[E-—LEBERRT ® 40 m 163.6
" @25 m 1.0
AN=HILHBHFITUEEER) 40 m| 10
RUIFLUERFT 40 m| 2
YRILDKREREIGEEER) d40x p25 | &R 1
HENOZRERLAHES ®25 a 1
RUIFLUEHFT @25 m| 1
TSHFT ¢ 40 | 74
" ¢ 25 A 4
EBRTR—+ m 164.6

EKEERT HKETRE =] 0.08 164.6m/2,000H=0.08 2
HUFRET |HUFHRET @40 = 3
® 40 HENORERLAHAES ® 40 a 6
RUIFLUERFT 40 m| 6
FEHRETL H=600 8 3
BEFRE " 3
HWAKOIBI ([YFLKREBREIGEEER) $40x ¢25 1@ 1
1 $40%x @20 & 11
HENOAFRERLAHES @25 a 1
" ¢20 (m] 11
E-—ILEHRHKRT ®30 m 10
" @25 m 1.0
" ¢ 20 m 17.0
TSHFT ¢ 30 m| 4
" @25 a 6
" ®20 m} 74
RUIFLUEHFT 30 A 1
BRI —b W=150S m 125




FHE

No.1
BRIR A Z2E g Hfg| Z9%E | £E%=E & =
IRHR-3
BKEMEZT [RUIFLUOEHREKRT ®50 m 117.2 100.0+17.2

E-—ILEMET ®50 m 1.2
" ® 40 m 1.3
RUIFLUERFI (RBEES) $50 1O#F | O 20
RUTFLUEYERT ®50 A 7
AN=HILBFIGRIER) ®50 A 10
AN=HIHBFT (EEER) ®50 A 6
" ® 40 A 7
ERRI—k m 129.7

BKERERT HKERE H 0.06 129.7m/2,000H=0.06 B
HUIFHHRET [HUIHFHET ®50 = 3
® 50 HE/NORERCAAES ®50 A 6
RUIFLUEMFT ®50 A 6
AEFRET H=600 #A 3
BHERE ® 3
RHUHFHRET |[HUFHRET @40 = 1
® 40 HE/NORERLAAES ®40 A 2
RUIFLUEMFT ®40 A 2
AEFRET H=600 #A 1
BHERE ® 1
ERAFREL |ESARET ®20 = 1
YRILDKEFRELGRUER) $50% ¢20 & 1
HERLIAAT @25 O 1
" ®20 A 2
FEHRET H=600 # 1
BHERE & 1




FHE

No.2
BRIR A Z2E g Hfg| Z9%E | £E%=E & =

wKUET YRILDKEFRELGRUER) $50% ¢20 & 12
HENOERERLAHES ®20 A 12
E-—ILEMET ®20 m 10.0
RYIFLUEMHRT ®20 m 20

TS#FT ®20 m 61

" »13 | 1
RUIFLUEMFT @20 A 10

BRS—bk W=150S m 6.0




T I % E %
£ %fr\ BoO® H B 4 = HEtHE
IRR-1
BKEMEET R T H=600 Q) 060 m X 0723 m 2156 m 9353 m3 90
HWIERLT REFYT valQ) 060 m X 0263 m 2156 m = 3402 m3 30
BEWIERLT HHET Q) 060 m X 0290 m 2156 m = 3751 m3 40
RIAET = 51.84 m3 50
TRERET t=10cm RC-30 060 m X 2156 m = 129.36 m?2 129
TrERET t=8cm M-30 060 m X 2156 m = 129.36 m?2 129
(RASSREE T t=3em e 070 m X 168.6 m = 118.02 m2
080 m X 470 m = 3760 m?2
&Et = 155.62 156
AEIBAsTHET (ANETL]  t=4cm R 080 m X 2146 m = 17168 m?2 172
AsEHZ R U1 T t=4cm 1686 m X 2 & = 33720 m 337
AsTHEERRBER: T t=4cm 080 m 2146 m = 171.68 m2 172
R AsERZE IR ER I T t=3cm = 155.62 m2 156
AsTHEESER - L H T = 11.54 m3 12
HWKERKRT |HEHEKRETL H=600 060 m X 0.686 m 105 m = 432 m3 4
HWIERLT REFYS 060 m X 0226 m 105 m = 142 m3 1
HWMERLT H=600 060 m X 0290 m 105 m = 183 m3 2
RIAET = 229 m3 2
TERET t=10cm RC-30 060 m X 105 m = 6.30 m2 6
LRERET t=8cm M-30 060 m X 105 m = 6.30 m2 6
RAsEHZET t=3cm FEAL 060 m X 105 m = 6.30 m?2 6
AEIBAsTHET (ANETL]  t=4cm R 080 m X 105 m = 840 m2 8
AsERZEhR U1 T t=4cm 1050 m X 4 % = 4200 m 42
AsEHEERRBER: T t=4cm 080 m X 105 m = 840 m?2 8
R AsERZE IR ER I T t=3cm 060 m X 105 m = 6.30 m?2 6
AsTREEFHER- 05 T = 053 m3 0.5




T T #% E %
£ o b3 H B 4 = RETHME
IRHR-2
BKEMELT |HEHKEL H=600 va{e) 060 m X 0708 m 164.6 m 69.92 m3 70
HWMERLT RARFYTS HrE @ 060 m X 0248 m 1646 m = 2449 m3 20
HWIERLT HEL Lvaled) 060 m X 0290 m 1646 m = 28.64 m3 30
BT = 3810 m3 40
TRERET t=10cm RC-30 060 m X 1646 m = 98.76 m2 99
LERAET t=8cm M-30 060 m X 1646 m = 98.76 m2 99
RAsEHEZET t=3cm FHFT 070 m X 1646 m = 11522 m?2 115
AREIBAsTHET (ANETL] t=4cm BRI 080 m X 1646 m = 131.68 m?2 132
AsEHEERR U1 T t=4cm 1646 m X 2 % = 32920 m 329
AsEHZE R bR T t=4cm 080 m X 1646 m = 131.68 m?2 132
R AsEHZE hiR Bl T t=3cm 070 m X 1646 m = 11522 m?2 115
AsTHE L IER - 05 T = 872 m3 9
HBAKEMELT |[HEHEEKEL H=600 060 m X 0686 m 125 m = 515 m3 5
BEWIERLT HEFvS 060 m X 0226 m 125 m = 1.70 m3 2
BMIERLT H=600 060 m X 0290 m 125 m = 2.18 m3 2
BT = 273 m3 3
TRERET t=10cm RC-30 060 m X 125 m = 750 m2 8
LERAET t=8cm M-30 060 m X 125 m = 750 m2 8
RAsEHZE T t=3cm FA I 060 m X 125 m = 750 m2 8
AREIBAsTHET (ANEIL] t=4cm BRI 080 m X 125 m = 10.00 m2 10
AsEHEERR VI T t=4cm 1250 m X 4 % = 5000 m 50
AsEHZERRBERE T t=4cm 080 m X 125 m = 10.00 m2 10
R As T ZE hiR B T t=3cm 060 m X 125 m = 750 m?2 8
AsTHEEFHERE - 5 T = 063 m3 0.6




T T #% E %
No.1
£ o b3 H B 4 = EtHE
IRHR-3

BKEMEET g EE T H=600 #rE® 060 m X 0663 m X 1184 m = 4710 m3
ErmEm® 060 m X 0.708 m X 113 m = 480 m3

=111 = 51.90 50
HHIERLT FEryT | EY 060 m X 0263 m x 1184 m = 1868 m3
WEQ 060 m 0248 m X 13 m = 1.68 m3

&Et = 20.36 20
e ErE® 060 m X 0290 m X 1184 m = 2060 m3
WRERLT T HrE® 060 m X 0290 m X M3 m = 197 m3

&t = 22.57 20

RET = 26.82 m3 30

TRERET t=10cm RC-30 060 m X 129.7 m = 7782 m2 78

LERAET t=8cm M-30 060 m X 129.7 m = 77.82 m2 78

{RAsEHZE T t=3cm FA I 060 m X 1297 m = 7782 m?2 78

AREIBAsTHET (ANETL] t=4cm BRI 080 m X 1297 m = 103.76 m?2 104

CofiZEhR I T t=10cm 1120 m X 4 % = 44800 m 448

CoffiZE iR T t=10cm 080 m X 1120 m = 89.60 m2 90

AsEHEERR U1 T t=4cm 1727 m X 4 % = 7080 m 71

AsEHEE R BERE T t=4cm 080 m X 177 m = 1416 m2 14

R AsEZE hiR B T t=3cm 060 m X 1297 m = 7782 m?2 78
AsTREEFHEE - 5 T = 290 m3
Coff sk &l -5 T = 896 m3




T T #% E %
No.2
£ 7 b3 H B 4 = RETHME
HWKERKRT |HEHEKRETL H=600 060 m X 0.686 m 60 m = 247 m3 2
HWIERLT REFYS 060 m X 0226 m 60 m = 081 m3 0.8
HWERLT H=600 060 m X 0290 m 60 m = 1.04 m3 1
RIAET = 131 m3 1
TERET t=10cm RC-30 060 m X 6.0 m = 360 m2 4
EERET t=8cm M-30 060 m X 60 m = 360 m2 4
RAsEHZET t=3cm FEAL 060 m X 6.0 m = 360 m?2 4
AEIBAsTHET (ANETI]  t=4cm R 080 m X 6.0 m = 480 m2 5
CoffiZ=hR Il T t=10cm 600 m X 4 % = 2400 m 24
CoffiZ=hRBER T t=10cm 080 m X 6.0 m = 480 m2 5
RAsEHZERRAERE T t=3cm 060 m X 60 m = 360 m2 4
AsTHEESER - L H T = 0.11 m3 0.1
Coffi & nE - 07 T = 048 m3 0.5




¢ 50

HPPE fd /K & Bk B - AR
UEE (m) DIxNF
& (m) GIwr T
=] Poris Vo P
& E M 'O ERE 2 g . i &
5]
-1 Z.-1 Z.-2 z.-3 .4 (OO (m)
1
(=g
HPPE
Z b
%

z-1 z-2 Z-3 4 Z-5 = 50
HPPE 50 5. 000 4. 400 4. 400 0. 600 1

HPPE 50 5. 000 4. 400 4. 400 0. 600 1 HHE[ 5.000

HPPE 50 5. 000 5. 000 5. 000

HPPE 50 5. 000 2. 400 1. 900 0. 700 5. 000 2
HPPE 50 5. 000 2. 800 1. 000 1. 000 4. 800 0. 200 3
HPPE 50 5. 000 1. 400 1. 300 0. 700 3. 400 1. 600 3
5 30. 000 20. 400 4. 200 2. 400 27. 000 3. 000 10
30. 000 20. 400 4. 200 2. 400 27. 000 3. 000 10




$50 HPPE Fd K & Y] & % B A3
UEE (m) DIxNF
5 OB W B R |0 ERE - | AR o W=
B
-1 Z.-1 Z.-2 z.-3 Z—4 O-® (m)
1
ERE
HPPE
o
%
z-1 -2 Z-3 Z—4 Z.-5 B = 50
HPPE 50 5. 000 4. 000 0. 900 4.900 0. 100 2
HPPE 50 5. 000 3.000 1. 500 0. 500 5. 000 2 HuhE| 5.000
HPPE 50 5. 000 3. 500 3. 500 1. 500 1
HPPE 50 5. 000 2. 100 1. 700 3. 800 1. 200 2
5 20. 000 12. 600 4. 100 0. 500 17. 200 2. 800 7
20. 000 12. 600 4. 100 0. 500 17. 200 2. 800 7




$50 HiVP fd K & b B F Bowd | R
UEE (m) DIHFNT]
7% (m) Gkr T
=] Poris Vo P
5 OF M 'O ERE z u . i &
5]
Z.-1 Z.-2 Z.-3 Z.—4 Z.-5 (OO (m)
HiVP 50 4. 000 0. 600 0. 500 0. 700 0. 500 2. 300 1.700 FR#R-35 T 1
(=g
HiVP
B = 50
HEE|  4.000
i 4. 000 0. 600 0. 500 0. 700 0. 500 2. 300 1.700
4. 000 0. 600 0. 500 0. 700 0. 500 2. 300 1.700




640 HiVP B K %

b E K B - A2
UEE (m) DIHFNTJ
BOEM B R |0 ERE S | I %
&
Z.-1 Z.-2 Z.-3 Z.—4 Z.-5 (OO (m)
HiVP 40 4. 000 2.500 1. 500 4. 000 1
(=g
HiVP 40 4. 000 1. 600 1.700 0. 500 3. 800 0. 200 HiVP
HiVP 40 4. 000 3. 700 3. 700 0. 300
HiVP 40 4. 000 2. 600 1.000 3. 600 0. 400 R = 40
HEE|  4.000
i 16. 000 10. 400 4. 200 0. 500 15. 100 0. 900
16. 000 10. 400 4. 200 0. 500 15. 100 0. 900




B PR3

40 HiVP K K & B & £
UEE (m) DIHFNT]
iz Bk
5 OB M | O ERE o . PR (m) G T s =
Z.-1 Z.-2 Z.-3 Z.—4 Z.-5 (OO (m)
HiVP 40 4. 000 2. 800 0. 500 0. 500 3. 800 0. 200 F#-25 T 1
(=g
HiVP
ER= 40
HEE|  4.000

3. 800 0. 200

B 4. 000 2. 800 0. 500 0. 500

A

4. 000 2. 800 0. 500 0. 500 3. 800 0.200



A ARRR-1

$30 HiVP fid K & b B F
UEE (m) DIHFNT]
o p - & (m) Blkr T
5 OF M B R |I0OERE z u . i &
Z.-1 Z.-2 Z.-3 Z.—4 Z.-5 (OO (m)
1 HIVP 30 4. 000 1. 000 0. 500 1. 500 2.500 1
(=g
HiVP
= 30
HEE|  4.000
i 4. 000 1. 000 0. 500 1. 500 2.500
4. 000 1. 000 0. 500 1. 500 2.500




A TR -2

$25 HiVP fd K & W B F
UEE (m) DIHFNT]
o p - & (m) Blkr T
5 OF M B R |I0OERE z u . i &
Z.-1 Z.-2 Z.-3 Z.—4 Z.-5 (OO (m)
1 HiVP 25 4. 000 0. 500 0. 500 1. 000 3. 000 1
(=g
HiVP
= 25
HEE|  4.000
i 4. 000 0. 500 0. 500 1. 000 3. 000
4. 000 0. 500 0. 500 1. 000 3. 000




